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WEST BENGAL STATE UNIVERSITY 

B.Sc. Honours/Programme 1st Semester Examination, 2021-22 

PHSHGEC01T/PHSGCOR01T-PHYSICS (GE1/DSC1) 

Time Allotted: 2 Hours  Full Marks: 40 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

 Question No. 1 is compulsory and answer any two from the rest 

১নং pű আবিশ°ক এবং অন° pű �থেক �য-�কােনা dিট  pেűর উtর দাও 

1. Answer any ten questions from the following: 
িনmিলিখত েয-েকােনা দশিট  pেűর উtর দাওঃ 

2×10 = 20

(a) If a vector A
r

 has constant magnitude, then show that 0
dt
AdA
r

r
 

যিদ েভkর A
r

-এর মান rবক হয় তেব েদখাও েয, 0
dt
AdA
r

r
। 

(b) Find the unit vector perpendicular to the vectors kjiBkjiA ˆˆˆandˆˆˆ2
rr

. 

kjiA ˆˆˆ2
r

এবং kjiB ˆˆˆr
 েভkর dিটর সেñ লm েভkরিট িনণর্য় কেরা। 

(c) If a uniform sphere has mass M and radius a, show that the attraction of one 

hemisphere on the other is 2

2

16
3

a
GM . 

েদখাও েয M ভেরর এবং a বয্াসােধর্র েকান একিট সুষম অধর্েগালেকর অনয্ অধর্েগালেকর pিত আকষর্ণ 

এর মান 2

2

16
3

a
GM . 

(d) Write down the dimension of stress and strain.
পীড়ন ও িবkিতর মাtা েলেখা। 

(e) Calculate the order and degree of the following equation:
এই সমীকরণিটর kম ও মাtা িনণর্য় কেরাঃ 

 032 2
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y

dx
dy

dx
yd  

(f) State the characteristics of Simple Harmonic Motion.
সরল েদালগিতর ৈবিশŶয্gিল েলেখা। 
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(g) Prove that rnrr nn ˆ1
r

. 

pমাণ কেরা, rnrr nn ˆ1
r

। 

(h) Show that the angular momentum vector is conserved in a central force field. 
েদখাও েয েকndক বলেkেt েকৗিণক ভরেবগ একিট সংরkী েভkর। 

(i) Write down the relation between Young’s modulus, modulus of rigidity and 
Poisson’s ratio of the material of a substance. 
ইয়ং gণাì, knণ gণাì এবং েপাঁয়াস অনুপাত এর মেধয্ সmকর্িট েলেখা। 

(j) What is Forced Vibration? Give an example of it.
পরবশ কmন িক ? এর একিট উদাহরণ দাও। 

(k) A force N)ˆˆˆ2( kji  is applied on an object of mass 10 kg which is at rest. 
What should be its velocity after 20 s? 

িsরাবsায় থাকা একিট 10 kg ভরসmn বstর উপর N)ˆˆˆ2( kji  বল pেয়াগ করা হেয়েছ।  
20 েসেকn পের েসিটর েবগ কত হেব ? 

(l) Establish a relation between torque and angular acceleration of a rotating body. 
একিট ঘূণর্নশীল বstর টকর্ ও েকৗিণক tরেণর মেধয্ সmকর্িট pিতŸা কেরা। 

(m) At what height above the surface of the earth, the value of acceleration due to 
gravity is reduced to one fourth of its value on the surface of the earth? 
পৃিথবীপৃŸ েথেক কত উcতায় অিভকষর্ীয় tরেণর মান পৃিথবীপৃেŸ অিভকষর্ীয় tরেণর মােনর এক 
চtথর্াংশ হেব ? 

  

 2. (a) Show that rr n r  is an irrotational vector for any value of n but it is solenoidal if 
,3n  rr  being the position vector of a point. 

েদখাও েয, n-এর েয-েকােনা মােনর জনয্ rrn r  একিট অঘূণর্ীয় েভkর হেব, িকnt 3n -এর জনয্ 
এিট একিট সিলনয়ডাল েভkর হেব। েযখােন, rr  হল েকােনা একিট িবnুর অবsান েভkর। 

2+2

(b) Prove that 0)()()( BACACBCBA
rrrrrrrrr

. 

pমাণ কেরা, 0)()()( BACACBCBA
rrrrrrrrr

। 
3

 (c) A body of mass m uniformly accelerates from rest to a speed v in times . Show 

that the work done on the body in time t is given by 2

22

2
tmv . 

m ভেরর একিট বst িsর অবsা েথেক সমtরেণ   সমেয় v গিতেবগ অজর্ন করেলা। েদখাও েয, t সমেয় 

কণািটর উপর kতকােযর্র মান 2

22

2
tmv । 

3

  
 3. (a) Solve the following differential equation.

িনmিলিখত অবকল সমীকরণিট সমাধান কেরা। 

 1,2)0(;0136
0

2

2

tdt
dyyy

dt
dy

dt
yd  
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(b) Two sphere of masses 500 g and 3 g respectively, attract each other with a force 
of 4 × 10 

– 6 dyne when their centres are 5 cm apart. Find the value of G. 
dিট েগালেকর ভর যথাkেম 500 g এবং 3 g। যখন তােদর মধয্িবnু dিটর দূরt 5 cm তারা 
পরsরেক 4 × 10 

– 6 dyne বল dারা আকষর্ণ কের। G-এর মান িনণর্য় কেরা। 

3

 (c) Young’s modulus of the material of a wire is 101020 Nm–
 

2. The wire is stretched 
along its length from 50 cm to 50.01 cm. Calculate the work done per unit 
volume. 
একিট তােরর উপাদােনর ইয়ং gণাì 101020 Nm–

 

2। তারিটেক ৈদঘর্য্ বরাবর 50 cm েথেক 50.01 
cm pসািরত করা হল। pিত একক আয়তেন kতকাযর্র মান িনণর্য় কেরা। 

3

  
 4. (a) The amplitude of a given simple harmonic motion is 2 cm. Determine the time 

period of oscillation if the maximum velocity is 12 cm/s. 
একিট সরল েদালগিতসmn েকােনা কণার িবsার 2 cm। কণািটর েদালেনর পযর্ায়কাল িনণর্য় কেরা যখন 
সবর্ািধক েবগ 12 cm/s। 

2

(b) Find out an expression for time average of potential energy for a particle 
executing simple harmonic motion. 
সরল েদালগিতসmn েকােনা কণার েkেt িsিতশিkর সময়গেড়র রািশমালা িনণর্য় কেরা। 

3

 (c) What is escape velocity? Derive an expression for it for the planet earth in terms 
of g and the radius R of the earth. 
মুিkেবগ বলেত িক েবােঝা ? g এবং R-এর সােপেk পৃিথবীর মুিkেবেগর সমীকরণিট িনণর্য় কেরা। 

1+2

(d) Explain the principle of conservation of angular momentum.
েকৗিণক ভরেবেগর সংরkণ নীিত বয্াখয্া কেরা। 

2

  
 5. (a) Show that the energy of a damped harmonic oscillator decays exponentially with 

time. 
েদখাও েয একিট অবমিnত কmেনর শিk সমেয়র সেñ সূচকীয়হাের কমেত থােক। 

4

(b) Show that centre of mass is unique for a system of particles.
েদখাও েয েকােনা কণাতেntর েkেt ভরেকnd একিট িনিদর্Ŷ িবnু। 

3

 (c) Draw the stress-strain diagram and explain.
পীড়ন-িবkিত েলখিচtিট অìন কেরা এবং বয্াখয্া কেরা। 

1+2

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script. 
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